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000000000000 4000000000000 ooooooooooooo
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00 20000000000000 [1),[8j00000000000DO0OOO0OO0O0O 20
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CDMA 0O [J

0000000000000 0O00O00OL0U0LOOULODOUOOD0DO0O0OO0 (Multiple
Access) 0D O0ODODO 3000000000000O0OODI0D0OOODOOOOODODOO
0000000000000 00 (Frequency Division Multiple Access:FDMA) 00 02
0000000000000 00000000 (Time Division Multiple Access: TDMA)
godoudosouooooooobuoooonoooonooooobouoogn
0000000000 (Code Division Multiple Access:CDMA) 000000 00000
OO0 CODMAOUOOODOOODODODOO0O0O0000ODDODOD0OO000o0o0ooon RAKEOO
0dooooooooooooooooooooooooouoooooooon

dddddo, oo ecbMAOOOODOoooooooa.
000,00 CbMAOOOOOOOODOODODDODODOOOO0OO, 000000000 on
O00Oo CbMAOOOOOOOOO0DOO0O0OO0OO0OO0O0oooooooo.oboo,oo00o0ad
goooooooo,boogodooooooggooooogg.

21 Ot obooobobod

COMAOUOUO,000000boboobbbbodoooooobobobboboog
0000000000000 O00O00 (Spread Spectrum Communication:SS) 0 0 0 00O
oo bobobdodudoooooobbobbbdooooounb oo
goggooogbbobbduouoooobboobboooobobobbobbobbooa
OooooooocbMAOOOOOOODOODOODODDOOObOOODbOOobODbOOobODOoOooOg
gogdooooooobboooo



2.1.1 0000 ooboooodao

SSO0000000000000000000000000 (Direct Sequence:DS) OO
OOoooossbobooooooouoogon

T . Power density spectrum
+1 — 1
0 >t
1 0 -
21/T
(a)00000

+ Power density spectrum
1-111-1 .1-111-1 .

-0
B

Te=TIN 2nN/T

(b)PNO O
+ Power density spectrum

0 JENRE
AU T —

21N/ T
(c)0O00O0

021 pPNODODDODODOOOODODOODOO

DSOOO0O0DOOoOO0OooboobOouooooobobboobooOoobOoboDboo
gbobobooboobbbbooobboooogooboboaoon

00000000000D000 21(a) 0000004100000 TOODODODOO
god

+1d-100dobgboobooboboobbboboobboobbuoooouuobooba
00000000000 2¢/70000000000G00O0



0000o0ooooo 21(b)di0 (2)O0ODO0OODOODODO 7T.000000000 (OO
00 SSO0000000oUDOOo0O0D)D00+£100000000 (Pseudo Noise:PN)
gboooboogo

T. = %(N .00) (2.1)

O0PNOOOOOOODDODOOOODOODOOO 21(a)00000000O0O0ONDODO
0000000000 2r/70000000000000ODOOO

00 PNOOOOOOOOOOODOOOODOOO (DODDOOOODODOOODODOO
OO0 (b)0O0O00O000000O00OO0LOO0O0O0OO0LOO0DOOLOOOOoUOoOO
000000000000 (h)0O00DO00D0OO00D0D0O0NDODODOO (spread factor:SF) O
ooo

020 (00000000 (¢)DOD0O0ODOOOOODOODOOOOOODOOOOOO
00 (¢)0000000000000D0O000D00O000000 ()000D0 1/NODOOO

00000000000 000000000 (despread) 00 O00OO0ODOOODOOOODO
O000000000O0ODO PNOOOOODOOD PNOOODODODOODDOODO
Oooooooooboooboo

0000d00O0bO00bO0o0obO0o0bOo0obOoobOooooooDooooooOoooon
ooodboboboobouoobbobooboooooboobobDooobobobOoog
O000000O000o0OooooooooobobooboooooboobOoboboooog
ooo

ooboooooono SNOUOOooooboo SNODO NObDbOOooooooo SNO
000000 SNOOOOOO0D0D (process gain) 000000000 bSOOOOOO
O000000000O0000O0ooooouoooooog (Frequency Hopping:FH) O
O0Ooooobooo

2.1.2 000000 (Direct Sequence:DS)

00000000000000000000 (DS)0000000000 (FH)OOO
000000 (TH)DOO0O0O0 (Chip) 0000000000000000000000
0000O000000000000000000000000000000000000
0 (DS)0000000000
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DSOOD0D0O000000000 22000000000 4(#) 00000000000
000000 7000+10NRZOOOOODOOOOOOO ¢(4)000000
T
T.= ~(N:00 2.2
w ) (2.2)
0000 7TO0O0O4+10PNOODOOOOONRZOOODODOOOODO

d(t)
( +ly - 1) ® ®
c(t) cos WT
(+1,-1)
PN signal Carrier
Generator Generator

022 DSO00000O0O

gbobogoobogbbuoobbobbbodoooboooboboboboonbobo
goboobbogobbooobooooboobooobbobobooonbbon 230
guboodgo

g2200bbod00bbdooobooobbobobboobboooboobbobobo
gbbogbbodobbb24b00000000000000O0O0OOOOOO0OOO0OO0
O0000000000000000 240000 d(t)xcosw t0000 1000000
gboboboodgbobbbd200bbbooodo

0000000000 00004£1000000000000200000 (Binary Phase
Shift Keying:BPS) 00 0000000000000 0O0Oe(t)0Dx1 00000000

a(t)cosw.t = sin [u}ct + a(t) - ;r] (2.3)

gooon
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t
-1
()0ooog
c(t)y Te
+1
O >
t
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(b)PN O O
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+1
0 R
t
-1
(c)ODOO
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()ooooo
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d(t)

coswet c(t)
Carrier PN signal
Generator Generator

024 DSO0O0O0O0OOOOOO

gbobobooodabon

00000040000 B=1/T(it/s)000000000000+10 NRZOO
0000000000000000000000000 B(Hz) O sinc00 (sinz/z) 00
00000000000

000000000000 70 PNOOODODOODODOOOOOO0O0OOB = 1/T(Hz)
0000000000000000000000 W=1/T,(Hz)000000000

000000000000000000000000000000O0O0O0O0O0O0000
0000000000000000000000000000000000000000
00000000000000000000000000000000000000 25
0ooo

00000000000000000000000000000000000000
000

2.2 CDMAOOODOOOOOOO

COMAODOODOOODOOOOODOOOOoOobLbbOoOoobbOoooobbooooo
Oopbooboossgoobooooobobobooobooobooboboobooobooogn
0000000000000 0ooooooooooo (100

gbobgooboooboooboobuoobobboobboobboboooboaa
gbobobobobuooogbobuoouooobbbuooooobobbboooouobbo
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1 Data signal
spectrum

YA

PN signal spectrum

W/T“TW\?x

Modulated
signal spectrum

1/Tc

U 2500000000040

gboogoooocbMAOODOOOOOOOODUOObLOO PNOODOODOOD
gbooogao

2.2,1 0OO0O0O0OoobooOoOooogd

PNOOOOOOOCDMAOOOOOOOOOOOOOOOOOOOOO0O000O
00000000000000000000000000000

00 c(t)0 ¢(t) 0000700000000 ¢(t—7)00000000000000
000 R.(r)0 ¢(t) 00000000000

R.(7) = lim T/ c(t — 7)dt (2.4)

Tﬁ»oo 2
00000 () 00b)00000-00000000t—7) 0000000000
0000000 Re(r)0 ¢(t)0 b(t) 00000000000

Ry(7) = lim T/ b(t — 7)dt (2.5)

T—>oo 2



0 (24)00 (25) 000000000000 ()0 b(t) 0007000000000
0010000000000000000000000000000

Re.( T/ c(t — 7)dt (2.6)

Ra(r) = o / bt — 7)dt (2.7)
000c(t)00Kt) 00000 7,000 T=NT.0000000000¢¢) 0 b(¢)0 T,

0000000000000000000000CGO B,000r=I17,00000R..(7)
O0RL(r)0000000 R.(I)0 Re() D000 DOCO

N-1

Reo(l) = > CrCl (2.8)
k=0
N-1

Ra(l) = > CrBru (2.9)

k=0
gobbogbboogb 20bbooboboobboobbobobuodoooboonoobo
gboboboogbobbouoobobbuoogobbbuoodabd
ggoogooobboobbbobbobobobbobobbbobbooboooooaa
gbogboodgobbboubodgbbooooobobooobbbooooobd

2.2.2 MOU

000000 PNOOODOO,02700000000000000 (Maximum length
shift register) D00 O0O00OMOOOOOOOOOO

000027000000 00000)00000O0CO0O0DODOO0ODOODOOODOO
000 (Linear Feedback Shift Register: LFSR)0 0000000000000 0O0O0OO
O000000000o0o0o0ooooooo 27(b)00 27(a)0 40 LFSROODOODOO
00 10MO000000O0 (000000 T,)00000 27(c)000000ODODOOO
000000 100 1) 0000000ooooooogo 2.7by0o10000 1,-1
O0000000000O000000 (28) 0000 O0oO0O0DUOOOoOOOO

gdodbboPpPNOOOODDOOOOODDOO

[0D0O0PNOOOOO |O000OO0O020000000000000100000O
1(000010-)00000000D00O00ODLOODOO00DOoDooOoOOd
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026 00 1B0MOOOODODOOOOOOODOOOOO

gbobogoNDoOO1000b0bO0ob 20000000000DO0ODODODOODOIO-1
000000000 200000002000 02000 CG,O0000 0 Ci(k:00)
gooon

Cr = (=1)* (2.10)

000000000 0000O00000oO0o0oO0oOoooUooOO (210000 (2.8) 0
00000000000 R(H)DOO

N-1
o) = 3 (=1)*(=1)*"
k=0
N-1
= N=-2> adcu (2.11)

k=0

gogoulooobbild U bbb obboogbbobboodbod
OO000000000000O00O0O0O0OO0OU0OO0ODOO0OOn (N=1O00007
000)000000000 (N=150008000)00000000(PNOOODDOO
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Output

| |nmanmn
__________ >t

00011110101 1001

(b)OO 150 MOO

(000000

A

ﬁnnﬂh>

o
il e g

1 1

15Tc Tc
(d)Do0o0ooooon

T,

T 1|[I|HHHH

Iy

0270000 (PN)OO0O0OO (MOO)
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000000 o0 100000000 1000000000 O0)00OOO0O0bO-100
gbobobodggo

00000 (28)00000 (211) 00000000 NDO 20000 0000200
0cO0000000 R()DO 2000000000

RmU)::{]V (I = 0modN) (219

—1  (otherwise)

O000!=0modNO 0I!0O NOOODDOOODO 0000000000000 NOOOO
000000000000

000000000000000000000PNOOODOOOOOOOO

O00040 LFSROODOODOO N=2-1=150M0000000000000
D000 LFSRODOOOO f(d)=D*+D*+1000000000 (11001) 0000
000000 f(d)=D*+D+ 1000000000 (10011)0 20000000000
002000000000

000050 LFSRODODOOOO N=2°-1=310M0O00000000000
OD0000LFSROODODODOO f(D)=D°+D*+1000000000 (101001) OO
f(D)=D°*+D*+D?+D+1000000000 (101111) 0 0Of(D) = D°+D*+D*+D+10
00000000 (111011)0 0000000000000 f(D)=D%+D?+10000
00000 (100101)00f(D)=D°+D*+D*+D?+1000000000 (111101) 00
AD)=D°+D*+ D>+ D+1000000000 (110111)0 60000000000
006000000000

goooob MOoO

00000MOO0O0000000000000000000000MO000000
0000003000000 MO0000000000000 00 (preferred pair) O
MOOOOO[100000000000000000 MOOOOOOOOO0OOOO000
O0ON=2-10MO0Ow00000000000000000MOO 00000
000000 30 #(k)—2,-1, —t(k)00000000000000000¢k) 0000
0 (21500000000

t(k) = 2lk+2/2 1 (2.13)

000000|«z|0 00000000000

12



028050 LFSRODOOODOO 310 MOODDOOOooOoOOooooooobooo M
gbobooogbbboboogo

110111

[ 101111
6 7 L
________________________ 5 7
111101 111011
Ll Ll

028 003106000 MODO0OO0O0O0OO0OOODOOODOO

2.2.3 GoldU O

O0NOOOOOOOMOOOOOOOOOOOOOOOO0O0000000000N
0 LFSROODO Gold DO OO O [10][8]00 290000 MOOOOO00000 Gold [
0000000000 MOOOOOD 20000 100000000000MO0000
10000000000000000000NOOO0MOOOOO0 200000000
NOOO Gold 00000000 000000000000 NOOO000000O00O
0000000200 MOOOO0O0OON+2000000000000000

000000000000 MOOO0O0D0O000000O000000 GoeldOOOO0O
0000 GeldOOOOOOOOOOO0OO0O0OMOOO00 300000000000
00000000000MOO0O00000000r=0medNOOOODOOOOOOO000O
00300000000000N=310000000000MO00f,(D)=D5+D2+1
0 f(D)=D°+D3+D*+D+1000000000000000000000 Gold
000000000 2100000

0000000000000000000 210000
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1 M Sequence generator 1

i

Clock initial phase set up

v

o

L M Sequence generator 2

0 2.9 GoldOUODOOO

O

seql:N=25 -1=31 chips

M H H ﬁ o 1(D)=D +D +1

S

3 N=31 chips

P H |
f2(D)=D%*D*DD +1

0 210: 000000 GoldOODO

14

seq2:Nz25 -1=31 chips
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021:07000000000000 GoaldOODOOODOOO

Code

Chip pattern

Sequence 1

1111100011011101010000100101100

Sequence 2

1111100100110000101101010001110

0 shift combination

0000000111101101111101110100010

1 shift combination

0000101010111100001010000110001

2 shift combination

0001110000011111100101100010111

3 shift combination

0011000101011000111010101011011

4 shift combination

0110101111010110000100111000011

5 shift combination

1101111011001011111000011110011

6 shift combination

1011010011110000000001010010010

7 shift combination

0110000010000111110011001010000

8 shift combination

1100100001101000010111111010101

9 shift combination

1001100110110111011110011011110

10 shift combination

0011101000001001001101011001000

11 shift combination

0111110101110101101011011100101

12 shift combination

1111001110001100100111010111111

13 shift combination

1110111001111110111111000001010

14 shift combination

1101010110011010001111101100000

15 shift combination

1010001001010011101110110110100

16 shift combination

0100110111000000101100000011100

17 shift combination

1001001011100110101001101001101

18 shift combination

0010110010101010100010111101110

19 shift combination

0101000000110010110100010101001

20 shift combination

1010100100000010011001000100111

21 shift combination

0101101101100011000011100111010

22 shift combination

1011111110100001110110100000001

23 shift combination

0111011000100100011100101110110

24 shift combination

1110010100101111001000110011001

25 shift combination

1100001100111001100000001000110

26 shift combination

1000111100010100110001111111000

27 shift combination

0001011101001110010010010000100

28 shift combination

0010011111111011010101001111101

29 shift combination

0100011010010001011011110001111

30 shift combination

1000010001000101000110001101011

15




MUOOOODOOOD GoldOOODOOODO

O00000ooooo (214)000000000000O

N-1
Re(l) = Y CiCr

(2.14)
k=0
MOOOOOOOOOOOOOoooooNO-1go200000000000oooa o

0000 GoldDOO0O0000 n=0medNOOO Ree(l) = NOO O O#(k)—20-10 —t(k)
0300000

DO0O0b0D 10000 MODODOO Sequencel ODOODODOOO 211000000

O00O0 GoldOOOOO O shift combination O 1 shift combination O OO OO O OO
O0oooOoooo 2120000

40

30 'Y

20
S
O
nd

10

0 00 0 0000000000000000000000000000 PY
-10

0 10 20

30
0 211: MOO Seq.1 0000000
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Rec(l)

40

30

20

10

-10

| | |
&——>o 0 shift combination seq.
A- — 4 1 shift combination seq.

0212000000 GoldOODOODOOODOO

17




gooobob MOOOOoooooD GoldOOOOOOO
O00000ooooo (215) 0000000000000

N-1

Ra(l) = > CyBru (2.15)

k=0
000000 MOOODDOOODOOOOOODOO Reb(l) =tk)—2,-1,—t(k) 0 30
O0ooooooon GodOOOOO 300000
O0000 210000 MODOOOO Sequencel O OO MOO Sequence2 00 00O
00000 2130000000 Sequencel DO OOODOODOOO GoldOOOODO O shift
combinationd 1 shift combination]2 shift combination OO0 OO0 O0O0OOOOOOO0O
02140000

NETATRTN)

0213:000000000MO0OO0O00DOOODOO

18



Reb(l)

40

30

20

10

-10

c——>o 0 shift combination seq.
& - — 4 1 shift combination seq.
= — = 2 shift combination seq.

0214000000 GoldOOOOOODOODOO

19

30




2.3 CDMAOOOOO

CbMAOOOOOOOOOOODODOOOOOOObOObObOOoOobOOobDOobOOObOO
goodbbooudgboogoobbuooobuooobooobobobdoooooon
gboboobbogobooobboobboobbodbooooooobboobonn
Ooo0ooboOoooooobooooobooono TbMAODODOOOOOOOOOOOoD
gobboboogoobooobogoboboboob b bouooboooboon
gbooogoboodn

gboooooeoMAOOODOOoOobOobDoobobDuooboooobobuooboo
gbbbooboboobboobbotobuodobboobuoooobooboboobobon
googd

O00000CbMAOOOOOOOOOOOOOOO0O(ODOOU0DOODOOO)ORAKED
gobbbogubobooogooboob

2.3.1 0OUoooobooooog
godad

gogooboobobobuoooogobbo 215000 0b0b0o1bboobao0d
gbbobooobbbooodgboob

Base station

Mobile Mobile
station 2 station 1

U 215 0000000000000

gbbbobboodoboobbbobboobboobuoooobbobboobobo
gboodgobodbogoboobbbuoobboobuooobogooogooaon
000000 ~200000000000000000000O0O0O0OO0DOOODOO0OO

20



1000000 ~000000000002000000 »000r/r,=1/100000
0000000000000000000000000000 10°000000

gbobogbbogobboobobobbboobuobogbboobbobobooood
gboboboodgbobboaboobdo

00000 FDMAOOOOOOOOOOOOOODO216(a)000000000,00
00000000000 DSO0(O0O0000)0b0O000oOO216b)000O00O0OO
gbouobuoggbogbobbboboobboobboobboobuooobooboon
gobobbodoobbbuoooobobooooobobobooobbobooooonoo

(%]
) o
o o
o power spectrum
from near mobile station power spectrum density
from near mobile station : MS1
4
' power spectrum
| from far mobile station T e f
N\
f power spectrum density
fl f2 from far mobile station : MS2
(a)FDMAOOO0O0ODOOO (b)DS/CDMAOODDDOOO0O

U216 0dgpobooogooboboooonbon

000000000000000000000000000000000000000
00000000 [10)0

gooboooooo

000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
[10][13]0

21



2.3.2 JUO0OO0OOOOoOoOoOoooOooOn
gooood

googoobod,bbuoggbboogbbogobbooobboooobbodad
0 [12[000000000000000 2170000000O0OO0ODODOODOODOOOO
gbuoogobuodbobobuoobbooobboobobooboobboobbobon
googboodbobobbobobboobboobodboobboobboobbon
gbobbboogbbobuoooobouoooobobooobbbooooobn

04 | oo
A0 | U500

- \aot0000leo
oo |B0Og|

e 00|60
N e 1

Refiected wave

reciver

U217 0d0boobooodan

gbboboboboguoooobobobboobboobbobobooboobobo
gobogbbobobbbobboobobobbboobboobbodgoboobbobon
ooobooobo T™OMAOOOODOOOOOOooOobobobobobobooobooboo
Ooboobboooboobooooooboooooooobobooo ebMAODOOOO
OO0Oo0o0O0obD0oobObORAKEDODODODOODOOOO

RAKE OO

00000000000000000000000000000000000000
000000000000000000000000000000000000000
000000000000000000000000000000000000000
RAKEODODODO [12]0
RAKEOOOOODODOODODO0O0000000000000000000000000
000000000000000000000000000000000000000
000000000000002180000

22



despread(1)"] detection

L adjust timing
adjustment to maximum delay signal
of timing(1)

. — maximal-ratio DATA
— |despread(2}r| detection—— delay T2 combining [

L adjustment adjust timing
of timing(2) to minimum delay signal

despread(3jp detectioni+—» delay T2 —

i

adjust timing
to direct signal | PN sequence
generator

0 2.18: RAKEO OO (3 Finger RAKEDSOODOD)

2.3.3 UJUOooooon

COMAOOOOTDMAOUODOOOOOOOOOOOOODLDOOOObOoOoboobOoog
godgogbooooobboodbuooobbobobboobbooboobooag
goboobbbboo1l1ogbboobboobbuoobobobobboobooobooo
gobooobbboobbobbtobobbotboboguuoouuboooooboooonbn
god

DS/CODMACOO0OOODOOOODOOOOU00O0O0OOUOOOODODOOOOOOOOO
gbboodog20gbbboooobobbbbooobbbbooooobbboago
gbodboooboboboooobobbooonoon

gbooood

000000000000 RAKEOOOOOOOOO000000000000000
000000001, (8000000000000 2190000
00000000000000000000000000000000000 C(;;) 0
D00000D000000000000000000000000000 Cy(,)000
(216)0 0000 WalshOOOOOOO (217)00000000
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Coded data Spr eaded
- ® . ® _____, code

Ci(lj) PN code
Ot hogonal
code

0 219 000000000

[y
H,, = [HN Hiva (2.16)
[ Cy(1) Cry2(1)Chy2(1)
Cy(2) Cr2(1)Cry2(1)
Cn(3) C'N/z(Q)EN/z(Q)
C’N _ . _ CN/Z(Q)ON/2(2) (2'17)
Cn(N 1)
CN(N) ] | CN/Q(N/Q)éNﬂ(N/Q) J

0000Cy2m0 Cypml 000000000000 (0101 -0)000000
0000D00O00000CK(j)0 NOODODODOOOOOOOO0O00000000000

Cx(j) € (£1,£1,- - -, 1) (2.18)

0220000 (217)00000000C0OOODOOOOOOOODOOOOOOOOOO
gbudgobodbogoobobboobbobboobboobooboboobbod
O00000000000000000 (Rate Information:RI) 000000000000

ggoboobobog22000000obbobooooobbbooooobob2bb0Od
gbuooobodbboobuoduooooobboobbooooboobodg 2000
gbooboboogoboboooobobbooooobon
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Cg(1)={1,1,1,1,1,1,1,1}
c,m=L11y [

Cg(={1,1,1,1-1,-1,-1,-1}

Co(1) ={1,1}
: Cg(®={1,1-1,-1,1,1,-1,-1}

C @I [CaWL 111

c, (=1
Cg(5)={1,-1,1,-1,1,-1,1,-1}

C,(3)={1-11-1}

cS(G) ={1,-1,1,-1,-1,1,-1,1}
Cg(N={1,-1-1,1,1,-1-1,1}

C,(2) =11}

(O)=(1-1-11-1.11-
Cq @) ={1,-1,-1,1} | Cg®)={1-1-11-111-1}

SF=1 SF=2 SF=4 SF=8 (sF:spreading factor)

0 220 000000000

gobboobad

gbbogoboogbboobuoobobouobbooboobbooboobbbao
0000000000000 Doo0b00000o0 (Dooo)obooooooooo
gbogbobooooooooobobod 2210000000 2210000001000
gogbbbouodgboobbodg 400bbbooodoboooaobbbodad

User 1 L ®

Data

Data mapping
&

0 221 00dpoogod

goddoouoooboobbboobobbbbobboboboooboobbogd
000000000000 ( Transmit Power Contro: TPC) OO ORIOOOOOOOO

25



Time slot (0.625ms)

B e e e L LR

Transmitting

timing | RI | | TeC | I P'—l

CH1 I *] I spread code 1 I *1 I spread code 1 | *1

g L L L
@ CH2 | *1 I spread code 2 I *1 I spread code 2 I *1 |
g | ' i i | i
g . L .
gé_ CH3 | *1 I spread code 3 I *1 I spread code 3 *1 ‘
CH4 | *1 I spread code 4 I *1 I spread code 4 I *1 |

*1 spread code 1

Multi code method

U222 0000000000000000

gbuodggbodgbogobogobobuoobboobbboobooboboobbon
gobobooooboboogodgo

goboooocbMADOUOODOO0ODOOO0O0OO0ODLOO RAKEDOODOODOOO
gobboggooboglobobodgbbobgogooooooboboooboobon
OO0 RAKEOOOOOOOoDoooooooooooooooooboboooooo
gbobobodago

24 00O

goooocpMAOOOODOOOOOoOoOooOoOobOOooOobOooboobuooooo
OoooboooobooooboboboooocebMADODODODOOOoOoODOoD
000000000000 0000O0000000000D00D0DOO0OO0ODODS/CDMA
gbuodgbbodbuodobboobboobuoobbodoboobbobboobbboo
goobogbboodb 200boobbobboobboabbogboobbobod
gbuooobuodbbobbbobbobudgooboobooobbobbbboon
gobobbogobbobuogogguobboboooobbbouoogd
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1 30

Juoootdoobon g

02000,Ds/CDMAOOOOOOOOOOO0OOOODDOOOOOODOODODOOO
goboggbo,ggbobboooboboboobbboodbbooobooobboon
goo.

ggboboodgobbuooobobo,ooobooobobbbooobbooobboa
gboobgoobobboood,guoooooao. gbo,bbbbbbooooodoan
goboooog.

3.1 U0O00oOoooboobobooobn

3.1.1 0UO0oudooboobuoobgd

gboboodgboboubboogoboboobooobbuoogsiagoboooobooa
goboboooboobbbuobodoboooboboboboooboobobon

. ogbobobobuoooobboooon

00010000000000020000000000000000000000
31,0 320000000 R(bps), R/2(bps), R/4(bps), R/8(bps) 0 0000400
000000000000

2. 000000000000DO0O0O GodOODOODOOOO

gbooobobooobobooboboooboobboobboobg GodOo O
000000 31,03200000000 100000 R((Mbps) 00000000
NO GoldOODUOOOODODOOO

27



. 0gtoonbooon

D000 (0000 Geld0DD)00000 2 0000000000000000
000000000000000000000000000000000000 NO
D0000000000000000 Rbps) 0000000000D0000O0
R(chip/s) 0000000000000

R. = R x N]chip/s] (3.1)

Lugbboboooobobooooobobbbuoogbbbo

. ubbudbobuoobbooobbbboodobooobbobooobboon
gbobobobogbouodgbboobbooobooobboboboobbooaon
0310000 Repeater DU O OO OOOOODOOOOO

.0oobooobuoobbobobn GodOOboooono

Oooo0oooooboooooooobobo0 gGodOoooooobooooDOo
ggbbooogoboobn

Channel 1
R bps ®
PN
Col d code A
Channel 2
RI'2 bps - (Q)—+Repeat er
(2 times) \
PN
Gol d code B b ——
Channel 3 /
R4 bps ,®_,Repeater
(4 tinmes)
PN
Gol d code C
Channel 4
R'8 bps ,®_,Repeater
(8 tinmes)
PN
Col d code D

U3l obbugoaobbooodaob

28



Tc
Hi gh speed —{= 1 Synmbol (bit)

Channel 1 "
Gold code A [ E

R bps

1 Synbol (bit)
2T

Channel 2 .
Gold code B |

R/ 2 bps

(biti)

Channel 3 _
Gold code C | |

R/ 4 bps

1:Symboli(bit) :
Channel 4 I ;
Gol d code D |

R/ 8 bps
Low speed

U 32 00b00g0oobbooooogoboboogod

gboogooos booobobooboobooboooobooboobb pPNOOD
obooboboboooooboobooboobo pNODODOODODODODOODDOOO
gbobodgbbobuogobuobooooooobobboobbogboooboon
gobboodgbobodbbooobbooodoon

gboooobobobobobobobobuobuooboo PNODOD KOODDOOD
gobboogbobobbuogoobboooooboobobobbbboog 33boon

Data

RIKIoPS] o _, [N chips
buffer

Spreaded
— &) —— data NxK [chip]

PN code N [chip] Cv()={1,-1-1,1-1,1,1,-1}

(Gold code)

033 00pPNODOODOODO

gbogooooboooodboo Kbboboodo s40bbbhobooboooboob
0000 PNOO (GoldODO)OOOOOODOO

29



Cg(1) ={1,1,1,1,1,1,1,1}
C, =111

C,o() ={1.1}

Cg@={1,11,1,1,-1,-1,-1)
Cg(®)={1,1,1,1,1,1,-1,-1}

C,@=ai g (Ce®=LiL-1-1-111)

C, (=L
Cg(5) ={1,-1,1,-1,1,-1,1,-1}
C,4(3)={1,-1,1-1} —6
Cs( )={1,-1,1,-1,-1,1,-1,1}
7) =1 -1.- -
C,@ =0 Cg(MN={1,-1-1,1,1,-1,-1,1}
(8)={1-1,-1.1,- -
) @1y Lot bl
SF=1 SF=2 SF=4 SF=8 (sF:spreading factor)

U334 00ogooood

0000000000000 000000000 ClasslOO0OOOO 1/2000000
0000000 Class2000 1/40000000000000 Class30000 1/8000
OOOoo0b0oobob Classd0 000 oooboo31gbboobooboobobog

031 00PNODOODO

PN Code Classl Class2 Class3 Class4
XCg( )

X Cy(1) x Cs(2)

x Cs(1) x0s(3)

Ca(2 Cs(4

Gold code A | xCy(1) xCa(2) | xGs(4)
XCS(5)

XC4(3) X08(6)

XC2(2) XC’g(?)

><C’4(4=) XCg(g)

00b0odolgoboo pPNOOODODO ClasslOODOOOODOOODOOO 100O
OO0000o0oobbOoobo0o1bboobo0obobo0oobooboooboUoDClass2000O
O002000000000Class300000O0O0OOOO40000000000Class4
gobboodgbbbgsuuodbobbbouoaobbdaodad
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gobbobooboogiligobbo pNODOOUODOOOLODOOOOOLDOObLDO
gbugoouoobouoobobuooobuooobooobodgbobooooboon
gogboboobboobogboobibobobboobuodgbooobooboon
ooboooobobbobooooobob pPNOOODOOODOODDODOODODO
goboboboooobon

gbobogobg3sboboooobobboobo pNODOOOODODOODOOD
goooboon

Spreaded
data NxK [chip] - - Data
—_ K bit
?q 2 [ butter [~ R P
PN code N [chip] Cx0)={1,-1,-1,1,-1,1,1,-1}
(Gold code)

035 000000000000 PNOODOODOODOOD

3.1.2 UJUU0uboboooboobbuooobbbuouooooon

000000000000000000000000 36()00000000000
00000000 100000000000 (PNOD)000000000000000
00 (036()000010000000008bpsI 00000000000 8kbpsO
0 8kbps 000 O32kbps 100000001 000000000 30kbpsO0O0O0O0O000
00000 30kbps 00 30kbps 000 0120kbps 00000000 0D0)00000000O

000000000000000000000000000000000000000
000000 36(b)0000

0000000000000000001000000000000000000000
0000000000000000000000000000000000000000
000000000000000000000000000000000000O0000
0000000000000 003.60b)0000 A0D0OOOO 8kbpsOBOOODODO
0 16kbps0C O 00000 32kbps0D 000000 64kbps 100000000000
0000000000000 AODOOOOOOOOOO00 8kbps 00 120kbps O O
8kbps 000000000000 000O0O000OOOO0O0O000000000O0 3200
0ooo

31



User 1 ‘ ‘ User 1
1 synbol :
—p!

A A ; 1 synbol )
8kbps @% ‘ ‘ PNL S siops 0 _|PafPna]pra] P i pra pra pral
(30kbps) | H il t iu_T.PN1|PN1 PNL t AL H il t p= -

jipl ? | Jinl f
B J Liusynbol - B J e 1 synbol ! '
?EBEE : 3 @ PN2 W : : 16Kbps @% 3 |PN2|PI2| Pr2] P2 : t
S ' M ' ' M '
Porg | mn. t o R PN2: e ! T[] t — PN2|PN2| PN2 PNZ:
;U‘ - J 1 synbol LL - J 1 synbol
! i [ : ' ' — '
8kbcps ? Y Pr3[PAS W! t 324’?;[)5 H—’ PN3|PN3 GG
(30kbps), |, q Fq FB t s PN3|PN3|PNS M P’\B—Wt T’Pl\B|PI\B |
1 synbol 1 synbol

D : ; n—t : D ‘ .~ }
8kbps ? 3 W Pule]_[en - 64kbps % i [Pral__|pralens [P L
(30kbps), |, [:q H H | P M PN4| PN ol [:q H H | R M PN4|PN4

- t T — = t T
e o
T — T
(p)00000oooo (bhyoooo

g 36 0ouogooogbogd

gooobO0opPNOOODOOOOOD 10000000 GodODOODOOOOOODO
obooboobobooobboboobo3robon

gooobdogbbbodgoooobogsuubbbobboogbboo400000
gboudgggbobobbobbobbouodgbuoogbogobboobboooaaon
gbooobooobobobooobobbooob svobooobobobooobobonoog
gbobooogao

gogogbbbobbobobooougogbbbbuoobuooooooobb odd
goobobobobuooooooobbobboouboob r1ogooo sougoon
gbuoobuodbboobboobuobooobboboobbuoobobouooon
gobgoboogboobobboobboodobbooboboobbogsigbooagn
oooobob pNODODOOOODOODOOODOODOOO

gbooobobooooboboosyuuboobooobboooboboooo
gbbooogbbbooubobobooobbdo1lgobbto nobooobbbdado
gobooobooagg
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U332 0bobogoobbbooobobooouoobooo

gobood (gbouooboood jgoobooo
A 8kbps 8kbps
B 16kbps 16kbps
AB (84+16)kbps 24kbps
C 32kbps 32kbps
AC (8432)kbps 40kbps
BC (16+32)kbps 48kbps
ABC (8416+432)kbps 56kbps
D 64kbps 64kbps
AD (8464)kbps 72kbps
BD (164+64)kbps 80kbps
ABD (84+16+64)kbps 88kbps
CD (324+64)kbps 96kbps
ACD (8432+64)kbps 104kbps
BCD (16432+464)kbps 112kbps
ABCD (8+16+32+64)kbps 120kbps
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33 user2
//GD\
7,8 ) user3
é’i 9,10
, 11,12

user 8 23824

) user5
29,30y (15,16) /17, 18
31,32 19, 20
25, 26\ /53 52
27,28/ (23, 24

33

user4 14 15

users 17819 20

user? 252627 29
users (39) 30 31 32 Ueer 9

<---

\

v
16k 32k 64k

X «--[--

8

userl 1

33user1
1,2, 3 user?2

user4 <f;§;§

10, 11,1 user 3
user5 U59r616<ZL§;@
13,14, 15\17, 1
user 7 user 8
@20]@ 22,23, 24
user9 ser 10
25, 26, 27 23,29,30
rl

use

Gl 32,3

user2 4

user3 7

user4 10
13

user5

user6 16
19

user7

user8 22

25

user9

user 10 28

user 11 31

A\ A\ A\

8k 16k 32k

U3rngoboopboooobgn
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3.2 U0O0OO0OO0OOO0bOOobboOobobooonbn

luddbbugoobuoogbbooobbbooobbbooobbbbodobn
goboboogbobbbuooogbboogooboooooobd

goboboooobooboogod

e 10000 PNODO (GoldODO)ODOOOOODOOODOODODOODOO PNOOODOO
gobbooogooobon

e JODOODO PNODOODOODODLOODODDODDOODODODODDODO
gouodooooobbooooboobobobboooobbuooobboboon
pNOOODOODOODODOOO

e OO OOOUODLDOOODLODLOOODLbOUOUOODLDDOUOOLbLDbDOOO
gobooogooobon

goboboooooboobogogd

e J0D00DDODOUIULUODOOULDDDOODODDDO DS/CDMAOODOOOO
gboboodgobobbdgbbboobbbooooobooobbobooobobod
gbooboooon

e 100D PNOODOOOODOODLOODLOODOODLDODODDUODOOODO
gbbooboodoodgad

3.3 Uubbooguuood

gbobooggbobodgbooobuobboobuoogboobboooooaoog
gbooobuoobboobooobooobboobboobbodgbboobbon
gouoobuodbobboobdoobogbboobuobbobbuoooboobbon
goobobooboogan

googobbobobbobbbobbbbobbbbooouououooouuoooauaog
god
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3.3.1 U00ogobooooobbnbn

033000000000,00000,0000000,0000000000000
000000 3,4 ooo0.

U333 buddggobbobgdd

Calls Infomation bit rate | Required BER Delay
Voice 8kbs 1073 Sensitive
Facsimile 32kbs 104 Insensitive
Low resolution video 64 kbs 10~° Sensitive
Packet data 128kbps 107° Insensitive

Required FE,/ 1

0330000 Required BEROODODOOODODOOOD E/LOOOD BOOOOOO
(3.2)0000000o0ooog.

Ey Si| R;
Y GmSi+ L - S
k=1
- + N,
R :

DDDDR:MPDDDDiDDDDDDDDDDDDDSiDDDDDDDDDDDDDRiD
0000000 (D0D000)0EO000000000D0000D¢,00000 (0< &, <
1)00O000 000000000000 000O0 kOO0 DO0OODOOoOooOOLO
O0000000ON,/200000000000 (Additive White Gaussian Noise: AWGN) O
godboboobbbodoobobboiybbbbboooboobobboboobobouoogoo
0000000000000 00000000000D0000000 QPSK-DS/CDMA
J000o0bbooobbobooobbooby=0000b0000b0000b0000
gopboo3s000biooobonobobbbbioooboogdy=09100000
00000 BPSK-DS/CDMA O OO OOOOOOOOOOOOOOOOOy=1500
Jo0dddboooduoboobobibdyxy=1820000
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Required BER

0330000 Required BEROOO OO ODOOOOOOOODOOOODO (Bit Error

Rate:BER) 0000000000 BEROO (33) 000000000000 (32)00
00000 30

BERzQ( 2(%)) (3.3)
0 QDDDQ(x)DDDDDDDDDDD
[e) 1 42
Q)= [ ey (3.4)

c0000000000 Q0000000 erfe(x)00000000000000
BEROOOOOOOOOO0O0O0000O0000000000380000000Q(x)0
erfe(x) 00000 (350000000

Q(X):;erfc(\)/}) (3.5)
03.8000BERODIIOODDODDOODDOOODOODOOD (BER)O103010740
107°010"°000 000 E/L,00000 0000 0 06.8[dB]08.4[dB]09.6[dB]012.5[dB]
gbuooooudbbooobbodobbudgoobuoobodoboobobodobbon
34000000000

U 34 0b0boooobboboobbbbbooad

Calls Infomation bit rate | Required BER | Required Fy/I, Delay
Voice 8kbs 107® 4.775(=6.8dB) | Sensitive
Facsimile 32kbs 104 6.916(=8.4dB) | Insensitive
Low resolution video 64 kbs 107° 9.095(=9.6dB) | Sensitive
Packet data 128kbps 107° 17.78(=12.5dB) | Insensitive
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BER

0

10

-1

102 Y

-3

B Voice

10° — -

10

0 ; Facsimile/\

-6

10

10

— Lowresolution »
7 video |

-8

10 | | ‘ ‘
Packetdata _|
-9 1 T\

07—
o [ \

10
00 20 40 60 80 100 120 140
Eb/NO[dB]

038 000000000 BERODO (200000)

38



34 00O

ggodgoobobbbbbbbbbbobbbbbbbobbobbobodaodado
gboogoobboogoodgbogobbobboobooobuoooboobbon
goboboooogobobbboobuoobboobboobbbouobooboboo
gbogoobuodbboobbobobuoobboobbobboobbooooooon
gbouogbooodbodbboboboobuoooobodbbobuooobboobbon
gbobbboobbbooodobbn

gbobobbogbbodgouobbooboogbbboobbobooobbobba
gbooogo

39



1 4 [

Juoootgdbobobotgtddood

g3bboogoboogbboogoboob oo, gbboogbboobbod
gobo,tdgggoboobooodoboboobobbooboobobobobbooon. o
goooobbobbbbobbobboboboboobogubooouooooooon
ggooboooobobooooobboob. oo, boobbooobobobonon
000,0000000000DS/SSO0000000DO0O00g DS/CODMAODODOOO
gobbbooobobouobbooobbog,bbuooboobogobbuooobon
g.obb,dbbobduooobooooobbbood

4.1 DS/SSOO000D000ODOODOOOOOOOO0O

4.1.1 0O0O0OOOOOOOO0OO

0000000000000 410000

0000000000000000000000 200000 (BPSK)OOO00O0O
0O0ODS/CDMAODODO00000000000000000000000000000
0000000000000 (AWGN)0O0O0O0000000000

DDDDB%KDDDDDDAWGNDDDDDwuﬂmDDDDH:%%FDDD
00 [14)0

000000000000000 EO0000100000000000000000
00 1000000000000 B/NOOOOODOOOOO0000000000000
000100000000000%= 40000000

b
No

gbbbogoouoobbooobboobboobboobboobbobboobbo
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Transmitter

Data

| |
T=NTc

Receiver
N \ o
Data

A
.

Mz

comparison

U4l 00000000000

00000000 100000 (Co0o0o0)DoooNODOODDOOOOOUDOOUODOOo

OoOOoob0 BpSKOUOODOOOOOODLOOOOoob ooobobobobboobOooobog

gbobooboboooobbobobodan
gobobobooouobobooooboobboooboooboboobboaogd
ggbdobboobobobooboodobbooodoobb 420000

4.1.2 0O00O0O0O0OOOOOO0O0

410000b0obobdooobooobbooooboooon

ggbodobooobobboboodo 430000

4300bboboobooboboogbobbooobbooboboogoboobood
guobodgbdgboboobbdobobdoobobuodbooobooobobobobooon
gboboboboobbbuoooobbooooobooon
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l

KEb/NO=0;Eb/NO<13;1\

[
| o =sqrt(N/(2.0(Eb/NO))) |

error < 10

data = 0.0~1.0 (random),

N

Y

noise = norm(0.0 ,0 )
(normal distribution)

propadata[j] = ssdata[j] + noise

datal=1 datal =-1

' | ssdatalj] = datal * pn[j]

PN multiplication

ber = error / sum

data2 =-1

0 threshold - - -{ -

042 0000000

U41: 0000000004

fprintf

Eb/NO

good

MOO

goood

31

goodgboboodad

200000 (BPSK)

goood

0000 (AWGN)

gooboogooooo

10 or 100

42



BER

0

10

-1

10

2

10

-3

10

-4

10

-5

10

-6

10

-7

10

-8

10

-9

10

-10

10

o simulation (errorilo)
x simulation (error=100)
- | —— theory
0.0 2.0 4.0 6.0 8.0 10.0
Eb/NO [dB]

043 0000000000

43
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4.2 DS/CDMA000O0O00OOOOCOOOODOOOOO

DS/CDMAOOOODO0000000000000000000OO0 (Bit Error Rate:BER)
00000000000000 [9-1]00000000000000000000000
00000000000000000 PNOOOOOOOOOOOO0O0O00000000O
0000000000000000000000000000000000000000
oooooo

00000000000041000000000000DS/SS0000000000
00000000000000000000000000000000000000000

000000000000000000000000000000000000000
0000000000000000000000000000000000000000
00000000000000000000000000000000000000000
000000000000000000 [10,11)00000000000000 [10],[11]
0ooo

4.2.1 00000

DS/CODMAOOOOODOOOOODOOOODODODO 440000

0000000000000 000O0000o00O00oD 200000 (BPSK)OO
O0000O0ODS/CbMAOUOO0OO0OU0ODOOOOOOODOODOUOUOODOOODDODODOO
gbuogougouooobuooboooooobooboobobbooboobbon
goobobbodoobobobobodboboooooboboobboobbobon

4.2.2 0000

000000000 i000O000000oooD @)ooopoooo

ri(t) = \/ﬁdi(t)PNi(t)coswct (4.1)

0000000000000 0O0OD0O0ODO000L R<LT(TOD OO 1 0ODOO) O
000000000000 0< ¢ <2r000000000O0O0OO0ODO (42)00000
god

ri(t) = \/ﬁdk(t — T ) PNi(t — 1) cos(w.t + ¢x,) (4.2)

O00000000ooooooOo0O (43)0ooooooo
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Transmitter

Userll'x

di

"

J2Pcos (wet+ @)

*H*Tc '
«— T=NTC . |
9 oo o
d2 : o
PN2 J2Pcos (ot + @, )
R o
: (AWGN) |
User K ’
PNK \/ﬁcos(wctarw)\*\
F;omparisgn
Userl "
0
Receiver T Z

» =TC

S e
User2 yne. T=NTc N )
— {0 ;
J2Pcos (g (t-T5) + @) PNy
. Sync.
User K N
g T
J2Pcos (e (t-T¢) + @) PNk

0 4.4: DS/CDMAOOOOOOOOOOO

US:ir(ti) ‘ ‘ OCiO-T::i ]_Z‘TC “‘ i- ‘
Zi?if) L [ exofexa] ]

O 4.5 ¢(t)0 et —7) 000

45

{d1y

d2

L odk f



r(t) = n(t) + f: \/ﬁdk(t — Ti) PNi(t — p)cos(w.t + ¢) (OO =¢; =0) (4.3)

0000i000000000D 00 4400000000

T
2 = / 7(t) P N;(t)cosw, tdt
0
T
= \/QP/ d;(t)PNZ(t)cos*w.tdt
0
K T
+ V2P ) / di(t — 1) P Ni(t)cosw, tdt
k=1,k: 70
T
+ / n(t) P Ny(t)cosw,tdt (4.4)
0
00000 100000000 (4500000

P

D000 200000000i10000000000000 kO0O00OD0OO00O0O 2
00000000 0000000 20.0000000000 46)0000000

P T
s= g / di(t — 7o) PNy (t — 7) PN (t)cosdydt (4.6)
0
gooooTOoOOOoO

di(t =) = de—1 0t <7y
dk(t—Tk):dk’O <t<T

000000000 48)00000ooooooooo

[P Tk T
Zik = ( 5608(}5]@) {dk,—l/ PNk(t - Tk)PNl(t)dt + dk70/ PNk(t - Tk)PNZ(t)dt}
0 Tk

(\/fcosgbk) {dk,—lgk,i(Tk) + dk,oék,i(Tk)} (4.8)

DoOo00iogbooboob 00
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Go= (a5 X {dr,1013(70) + diooBrs(7i) } cosd

k=1,k#i
T

+/7MWM@wwmﬁ (4.9)
0

ooooo

0000000000000000000000000000000
0300000000000000000000 N,/200000000000000
<n2(t)>00 (410)00000000

AN

3

O N

=

vV

[l
—

/OT n(w) P Ni(u)cosweudu - /OT n(v)PNi(U)COchvdv>

=

~
c\o\@c\

!

< n(u)n(v) > PN;(u)PN,(v)cosw.ucosw.vdudv

705(u — v)PN;(u)PN;(V)cosw ucosw vdudv

S— —

~
NN

(1 + cos2w.u)du

%‘gw‘g
~N

(4.10)

00002000000000000000000000000000000000C0
0 Ody1,dio, T, o0 0000 0dy_1,doe001/20000+10-1000000007
0D00TOOODO0ODO0O0O00O0O0¢0 002:00000000000000000 2
0000<(XSz)?>00000 (4.11)00000000

PN & (T X
<Car> = (i) X [0+ )ar
k=1k=i "0
p> K Nl/(Prl)Tc A
= (= > {07(7) + 6%,(7)}dr
<4T kL hti 1=0 /1T ’ ’
PT2 K
= — | Y (4.11)
12N?® k=1,k#i )
00 n, 00000000
N-1 ‘
Thi = {x,(l = N)+ zpi(l = N)api(l — N+ 1) + zj (I = N + 1)
=0
+ai (1) + zea(Dzra(l 4+ 1) + 23,(0+ 1)} (4.12)
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0000

< Z?noise >= S5 Z Tk + _NOT (413)
(nosee) 123 (1«—1.1«7& ) 4

00000000000000(SNR)OOOO0O00 PT?/2000000000000
(41400000000

SNR = ! (4.14)

1 K Ny
Z Tkq | +
63 (k—lﬁ#i ) 2PT

uooboy - 0000000000000000004

1 K K-1
o~ + 4.15
6Neh2§#rh 3N (4.15)

0000000000 416)000000000O0OO

1
K—-1 Ny

SN oE,

SNR = (4.16)

4.2.3 U0O0OOOOOOOOO

0000000000000 4600000000000i000000000000
0000000000000
00000000000000000000000000000 200000 (BPSK)
00000000DS/CODMADODOOOOOODO000D0O0000000000000
0000000000000000000000000000000000000000
0000000000000000000000000100000000000000
0000000000000000000000000000000000000 T,O0
0470000 T,=+7.0000
000000000000<¢,<2s0000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0(4900000000000000000000000000O0O0O0O0OOO0OOO
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Receiver (user i)

Transmitter

N

Userid i % @ Gﬁ (% Z —

PNi n(t) PNi
(AWGN)

Userl

o

' PN1 . COSA
Userk

d

Jo1o |
T = .
dk ? Lok ] % @ interference signal
' PNk . COoSsQy
User K ﬁ
dK
PNK COS@Px

046 00000000000 (G0O0O0O0O0OOOOOO)

o T T T I T T TTT1]

ck(t) | ‘

Tc=10Tst

047 0000000000000O000

49

1



OO0 cospp 0000000 0O0O0O0DOODOO0ODOODODODDOODO0ObDbDOObDOnDO
gobobogboboobbodan
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gboubuoggougbbuodgbboooobboobboobbobbbobboboo
gbobogoodobobbooogouboooobbooobbuooobbbboboonbt
00000 (@Oo0o00) D000 NUOOODOOODOOU0OO0O0o0oooooo BPSK
googgbuoboobobobbooouunoboobbbooobuoooboooboo
googob
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i= 0~ (K-1)
pn[i]=pnfunc(tap,reg,n)|

[

PN Seq.
BPSK modulation

Eb/NO=0;Eb/N0<10;1
(user=1; user<K+1 ; 1:

[

o =sqrt((N*10)/(2.0*(Eb/N0)))

(Eb/NO = constant)

k = 0~(K-1)
data[k] = 0.0~1.0 (random)

sum of data

=]
o
)
7]
@

. simulation2’

,,,,,,,,,,,,, L——f———fwﬂBPSK modulation

ssdata[K][j] = datal[k] * pn[j]

j = 0~(N-1) §

k=0; k<K; 1

j=0~(N-1)
delaydatalk][j]=ssdata[K][j+tau[k]]

ey

synchronize ---
i

k=0~(N-1)
mydatalj][k] += delaydatalj][k]

ji=0; ji<K; 1

k=0~(N-1)

Jijn!t:ejrdatr;\[j][k]
+= delaydatal[jj][k]*cos(failjj])

i)

k=0~(N-1)
sumdatalfj][k]=
mydatalj][k]+interdata[j][k]

noise = norm(0.0 ,¢ )
(normal distribution)

[

’ propadata[j] = sumdatalj] + noise ‘

j=0~(N-1)

syncdata[k][j]=propadatalj-tau[k]]

j

= 0~(N-1)

recdatalk] += syncdata[k][j] * pn[K][j]

048 000000

o1

O

k=0; k<K; 1

data2[k] = 1

[ k=0; k<K; 1

error count

datal[k] !

N

For all user
error

k = 0~(K-1)
ber[k] = error [k]/ sum

[

k = 0~(K-1)
ber += ber[k]

avber = ber / K

‘in case
\. simulation2’

\




4.2.4 UO00O0O0O0OOOOOOOO

04200000000000000000000 (ODOOD0=1,5,20,33) 00 Ey/Nyg
000000000000 00(BER)DOUOOODOOOOOOO 100E,/N,O0O0O
(Ey/No=6.8,8.4,96) 00 0000000000000 BEROODODOODOODOOOOO
200000

U42:. 0000000000

oooo 000000 GoldO O
ooooo 31

0000000000 | 200000 (BPSK)
0ooooooon 0oo
0ooooooo 0oo
oooooo 0oo

ooooo 0000 (AWGN)

gogboobbooob 1,200000000¢0 49,4100000

gboogbbgl2zogbbobouooobboooobobbogbboobbobd
goboboboooobbobooodao

O00000000000oO0o0ooO 4100000000000 DOOODOOOOO
gouogobuodoboobbobooobbbobuoobboobuoooboobbon
0(414)0000000000000 (41)000000O0O00ODOOOODOCOODOO
(4.16) 0000000000000 O0OCODODODOO0OOOOOOOOOOO

52



BER

10

10

10

10

10

B 20 users(theory)
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049 000000001000
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,,,,,,,,,,,, Eb/N0=8.4[dB] (theory)

— — - EDb/N0=9.6[dB] (theory)
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4.3 O0O0OO0O0UOOOOOODOOOOOOOOOOOn

4.3.1

oooobodgoood

g4l1i1gdbgboooobboooogo

Transmitter

Useri

di

Userl

S d1

Userj

dj

UserK __INchips
d3 % buffer

N chipg
buffer »®

Receiver (user i)

PNi

N chips
buffer

PN1

N chipg
buffer

PNj

PNJ

f
Cy (i)

i

Cy(1) .
f
Ck(@
f

Cx(©)

cos@,

i

cosQ,

i

cosQ;

N

>

>

O—D %ﬂ
n() PNi
(AWGN)

interference signal

K bits
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Send bits ]
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5.1.3 0JU0O40obooogod

0000000000000 (h.2)000000OODOOOoOnO 150

1
P =_ Y iP (5.2)

J=dmin
0000-,00000 (nk)0000100000000000000000 Odpin
000000000000000t000000000000000000000000
dnin=2t+10000000
0D00P00000 (3)00000000000000

Py = 4, Zn: Et: (i, §,d)p'(1 — p)™ (5.3)

1—=t+1 d=0
0 (5.6)00000A,00000000000p00000000000000000
0000000000000000000001000000 7000000 [16)00
00 400 000,;00000000000
000004¢(i,5,d) 00000 j0100000w00000d(0<d<t)00000
i0n000000«0000000000 (5.4)00000000

c=(j—i+d)/20000000
iCe njCq 2, § min2n—i—j,i+j]>d>|j—1i

(5.4)
ooooo

¢(1,5,d) =

0o,000000

o000 (74)00000000000000O0DOO

00000 (5.2),(5.3),(5.4) 000000000 (74)000000000000000
0o0oooo

0(2)000000000000000n=70000000000dmm = 3(dmin =
2t+1)00000000000(5)000000000000000

1 7
P = §Zij
=3

1
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1=1+1d=0
7 1 )
= 722(}523(1 —p)
1=2d=0
= 21p°(1 - p)° + Tp*(1 — p)* + 28p*(1 — p)° (5.7)

7 1

P, = A Z Z¢(i:47d)pi(1_p)7ii
i=14+1 d=0
7 01

=7 Z Z QS('L: 4, d)pi(l - p)7_

1=2 d=0
= 28p*(1 —p)* + Tp*(1 — p)* + 21p°(1 — p)? (5.8)

Pro= A S S (0T (L —p)

1=1+1d=0
7 1
= > > ¢(i,7,d)p'(1 —p)"
1=2 d=0
= (1 —p)+p’ (5.9)
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Q jli Hanmi ng( 7, 4) Recei ve bit

> T > Decode > sequence
PN( N=31)

Usrnooooboobogogd
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gooboooooo

gbogbooooobobssibud

10~ ‘
107 i
g
107 L&
10" o
@ %
i :
10°
@.\
10°
i o BPSK using Ham(7,4) (sim.)
107 L * BPSK using Ham(7,4)+parity (sim.)
E| BPSK using Ham(7,4) (theory)
—— BPSK (theory)
10° ‘ | ‘ | ‘ | ‘
0.0 2.0 4.0 6.0 8.0 10.0

Eb/NO [dB]

058 0000000 DS/CODMADODOOOOOOOOOOOO

gsstuubbgobuoguodbooogbooooboooobobogobobbg
goboboooobbobuoooobooonb

O0005130000000000000000000 (DODDODOOUOOODOOOD)
goboboooobbobuooouoooon

000000O00O0O0O0O0ODODOOOO0OO0ODOOODOODOODOODOOO oo0OO
gboboggbbooouobobobboobbobossibbubebdnoon
0000000000000 ooooooO (000000 UoooooD)ooDooOoo
goodobbuooggobobbuogobobbobbooobbbbooogo
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5.2.2 0000 (74)000000 DS/CDMA 0O0OODOOOOOO
Jogoo

gobbogabbbodabd

ooQoooD0 Dbs/cbMAOOO0OOO0O0OOOOOO (74)0000000O0O0O0OO
gobuobuodbbbodoodgooobogssbubuobouoaobobdgssbbin
gboobooooboood

Uss 0dbogdgobod

goon 000000 GoldOO
goooo 31
goooboobodod 200000 (BPSK)
gooooooo odn
gooboooog odn
oooooo odn
goooo 0000 (AWGN)
Ey /Ny 6.8[dB]
Transmitter
e
PNi ny
(AWGK)
Us‘erz 1 (% =N Q? Rece|veimsii - 74) “
' : Decoder

i % | Tk |

(% EB7interferen(:e signal
’ PNk . COSPk
UserK y—\

dK

PNK COSPg

gs9 00bodobbobd
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gooboooooo

gs100b00bodoboooooodo

10
10~
10°
10"
-5
x 10 E , : :
Ll r . j :
D 10 L/ — Eb/N0=6.8[dB] (theory)
A B B Eb/N0=6.8[dB] using Ham(7,4) (theory)
107 L/ -~ Eb/N0=8.4[dB] using Ham(7,4) (theory)
E — - Eb/N0=9.6[dB] using Ham(7,4) (theory)
10° L © Eb/N0=6.8[dB] (sim.)
-/ o Eb/N0=6.8[dB] using Ham(7,4) (sim.)
169’/ s Eb/N0=8.4[dB] using Ham(7,4) (sim.)
‘ * Eb/N0=9.6[dB] using Ham(7,4) (sim.)
1070 | | ‘ |

5 15 25 35
Total number of users

0 5.10: J0OO0O0O DS/CODMAOOODODOODOOOODOOODO

0510000000000DS/CDMAOOOOOOOOOO (7400000000
E,/No=6.8/dB]0 0 00000000000000000000 BEROOOOOOOODO
000000000000000 (7,4) 00000000000 BEROOOOOOOOO
E,/NoO 6.8[dB]08.4[dB], 9.6[dB|0 00 0000000000000 00000 (7,4)0
D000O0000E,/N,=68dB|0000000000000000000000000
D00 (7,4)000000E,/N,D 68dB|00000000000 a0 Ey/N,O 8.4[dB]
00000000 E/NoO 9.6[dB]000000000000000000000000
0000000000000000000000000000000000000000
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goboboooobbboouoooboooood

5.2.3 0000 (v4)000000000O00OCODOOOOOOOOO
Jooooooooooog

gobbogabbbodabd

gbooobooobodbuooobbooobboooboobbooobooobooba
gbobouogbbuogobbuobobuooboboooouobbooa3bboooboan
gooobbobbbodoooooobooobb 3o obobb 4000000
gboboboobogodao

gbobboboobooboobogbsetubboubbogobobioodsiltgood

se6: 0000000000

0oooo 000000 GoldOO x 000000
0ooooo 248(31x8)
0000000000 200000 (BPSK)
000o0o000on 0oo
0Dooooooo 0oo
oooooo 0oo
ooooo 0000 (AWGN)
Ey/No 6.8[dB]

gooboooooo

gooobb 1. ggobogbouooogbbsi2zuod s13bboaoood
s.120 330 0000000000130 28800000000 OOO0OODOO
goboob 2. 000bboobbdobodob s1400 51500000000 5.14
g33dgoobboooodaibsieb 2480000000 0000000OO
goboob 3. ugbobbdoobbobuadgnobslebbs1sbouboboog 5.14
g33dgoobboooodabsirb 2800000 bboooooboon
guboubbugobouobouoooboooon s.1200 5.1400 5.160 0000
oc0O0000OODOODODODOOUOD (T40O0OODODODODOOODODOODOOOOODOOOOOO
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Transmitter

Useri __ |Hamming (7,4) |__, N chipg R —P----+P-.

Encoder buffer

PN Ci (i) n(t)
(AWGN)

User1 Réceiver (user i)

N chips % - /
. - % Tl . .
. di % buffer ¥ - (% . NIk bits_, ) Hamming (7,4)| %
. . 2 buffer| Encode
PN1 Ce(1) . cosg !

PNi Ck()

N chips .
di L oufter| & -
Y T ) interference signal
: PNj Cl) . cos,
User K N chips o .
d3 " buffer Qﬁ
f
PNJ CxQ) cosQ,

g sl1l: guogboouogdaodan

OoooooooOo (74)0000000BERODUODOOOOOOOOOODOOOOOOO
000000o000o0o0ooooo0ooooooO (v40O0D0oooooOOooOoooooo
00000000000 DODODOUDDODO (h.l0)DODODODUODO (T4)ODDOO
o000 BEROOOOODOOOODUOODOODOOOOODOOLDODODbDOODODO
000000000000 000 (74 000000000000 DOOO00D0OOOOO
gbooggobuodbogobuogboodgbuogobboooobodaoobooboon
gboboooodoboobobbooboobbooboooooooboboboboooboa
0000000000000 o0o0ooooooUoUooooUo (yooooooo
gbooodgbbbodd BERODOOOOOOOOobDOOooooouooobobboon
gbobbogobbbooodboobuoooboon
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10°
10°
10—
10°° — Us_ing Ham(7,4) (thepry using sim. daf)
: ——o Without Ham(7,4) (sim.)
oo * Using Ham(7,4) (sim.)
10"

5 15 25
Total number of users

0512 000000 1. 0000000000000 (33000)
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10

@@C@@%a @?é@ %53% Q%%Q@%@D %@QP .?ss,m',o @%%C@%OC%@%@ Qg% @&9 %%Q%OO

oo ° Without Ham(7,4) (sim.)
« - - = Using Ham(7,4) (sim.)

—— Using Ham(7,4) (theory using sim. dat)

107
[0 S
w 10
m g
10° |
"
L
I
I
|
0 5.13:

50 150
Total number of users

000000 1. 0000000000000 (248000)
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BER

10

10

10°

10

-5 % | | |
10 ¥ —— Using Ham(7,4) (theory using sim. data)
i ——o Without Ham(7,4) (sim.)
*-——* Using Ham(7,4) (sim.)
10° 3 ‘ 3 ‘

5 15 25
Total number of users

0 514: 000000 2. 0000000000000 (33000)
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10 o 9 el %O@%%%%? R
B ap & SHRFIRG SRty 00 T
* Al S
-2
10
-3
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\
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- Without Ham(7,4) (sim.)
+ - -~ Using Ham(7,4) (sim.)
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50 150

250
Total number of users

O 5.15: 000000 2. 0000000000000 (248000)
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0 5.16: 000000 300000000000000 (0000 33)

— Using Ham(7,4) (theory using sim. dat)

e——o Without Ham(7,4) (sim.)
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10
10°
10
5 1 |
10° ¢ oo Without Ham(7,4) (sim.)
i oo * Using Ham(7,4) (sim.)
I —— Using Ham(7,4) (theory using sim. dat)
10° | 5 3

50 150
Total number of users

0517 000000 300000000000000 (0000 248)
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5.3 00O

0000000000000 00U00O0 (740000000000 DOOO0OOOOO
gboboobbogogoggbogobbobbogboboboooubboobibn
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HEN

6.1 UUUOOOUOoOUOuoboobobouon

DS/CDMADO0O0O0O00OC0OO0O00O00O0OOOOO0ONONODOOOOONO00OO0ODO
0000000000000000000000400000000000000000
0000000000000000000000000030000000000000
0000000000000 (BER)000000000000O00O0O0O0OOOO BER
00000000050000000000 (7,4)000000000000000000
0000000 BEROOOOOOODOOOOOOOOOO (740000000000
000000000000000000000000000000000000000

000000000000000000000000000000 30000000
00000000 (00 8kbpsO0OOO OO 32kbps0000000 0 64kbps00 000
000 128kbps) 0000000000000 8kbps 00 120kbps O O 8kbps 00 0 0
0000000000000000000000000000000000000000
0000610000

0000000000000000000000000000 00 16kbpsO 32kbpsO
64kbpsd128kbps 10 0000000000000 000000000 N =310 PNOO
000000 128kbps 00000000 PNOOOOOOOOO0O0O00000O0COOOO
000000000000000000000 RO R, = 128[kbps] x 31 = 3.968[Mchip/s|
000000000000000000000000000

000000000000000000000000000000000000000
0003000000000000 8kbpsOBER=103000000000040005
000000000000 1. 0000000000000 50000000000000
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0512, 5. 13000000000000000 3000000000 O0OObOOO00O0
gbobooogbb 2 b0bo0ogboboodubbobobboobbdabn 5.1405.150
gogbobogugobboad 20guoboboogbon

Uel:00b000obbbooobboooonoobooo

gobgoo |0obooboobboob (obobbobbooboobo ’DDDDDDDDDD

A 8kbps 16kbps 16kbps
B 16kbps 32kbps 32Kbps
AB 24kbps 48kbps (16+32)kbps
C 32kbps 64kbps 64kbps
AC 40kbps 80kbps (16464 )kbps
BC 48kbps 96kbps (32464 )kbps
ABC 56kbps 112kbps (164+32+64)kbps
D 64kbps 128kbps 128kbps
AD 72kbps 144kbps (16+128)kbps
BD 80kbps 160kbps (32+128)kbps
ABD 88kbps 176kbps (16432+128)kbps
CD 96kbps 192kbps (64+128)kbps
ACD 104kbps 208kbps (16464+128)kbps
BCD 112kbps 224kbps (32464+128)kbps
ABCD 120kbps 240kbps (16-+32+64-+128)kbps

gbobooooobdg 3. bogbogboaooogosbubuoboooobbod
Oooosle s17dbooboobboobooboboeobbob0oboboboobood
gobboobobuogogbbboboobobbooob . bboooobbboon
000000000000 0000000000000000000000 O Ey/Ne=6.8
[(dB|DO0OU0O0OE,/NOOOODOOOODOOODODOOODODOO0OoDOOoooooooo

gobboogobuogboooboobuoboboooooobooooobob oo
000000000000000 64kbps, BER=10°0000000000000000O
Ooo00oboooouobo 128kbps OO0 OO0ODOOOOOOODODOODODOO
gbbuodggbbododbduobdogeltobbobboobbobbooobboob
DboooodboooboooboobobboobboOo N=310 GoldODODOooooog
0000000000000 0000 DS/CDMAOODODOOOOOOODOOODO 00
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000000000000 5100000000000BER=10°00000000000
Ey/No=6.8]dB] 0 10000 E,/No =8.4[dB| 00 40000 E,/No=9.6[dB] 00 600
00000000000
000030000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000 000000000000000000000000000000

6.2 U0O0OOOOOOOOOOO

ggddobdooooooooobobboobbboboboobuooogbogd
gobobbogooboboooboobbboooobobooooobbbooooo
g3tbb3l1bobbbooobbuogubboobboogoboogbboobbood
gbobgdobooboboobboodoobuooobuooooobobooboboobbooobn
gbuodgobodbuogogudgboodobuoobbbuoooobooboboobbob
gbobobbogbobobbooooobbuoogo

00000 N=310 GoldOOO C4(1)0Cs(8) 00000000000 OOODOon
UD0000ClasslO0OOOO0OO0O ClassaUODOOOOODODODDOODOODOODO
gooon

goboogsiib2udbouggbbouooogboobooonoboaobod
2000000000000 O0O0DOObOOnO

gbbbb 4000 s0b000bobbuobboobbodgbboaboboodobobo
O BEROOOOOOOODOOOOOOOOOOPNOODO Ce(1)00 Ce(8)OOO
gbobobbooobbboboobbod s.ougobd

gggbboooobboobobooobon

obod.jdobdboobooo pNOD00O0OD0O0OOO0ODDOOODLDODODOEO 50O
OO000ODOO00000bbO0o0oubOoon Class4000oonoOQ

PN; = PNk(j) (= GoldPNy x Cs(5)) (6.1)

k=i/8) +1 (6.2)

j=1 (6.3)
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goobobboog3sbu gubuupoogobooboue3dtbboboobogo
OO0D00O0D0O00000bgbb Class 3, Class40 000000000 O0ODOODOODO

1. Class 3
PN, = PNk(j) (= GoldPN,, x C4(5)) (6.4)
k=2x[(i—1)/4] - [(i—1)/8] +1 (6.5)
4 (i=4n)
77 { mod i (othewise) (6:6)
2. Class 4

PN, = PNE(j) (= GoldPN, x Cs(5)) (6.7)
k=3x[(i—1)/8] +2 (6.8)

. 8 (i=8n)
77 { mod i (othewise) (69)

gboooooooo1rbog 8gbgbooboooboboe4tbbobOobOonDO
OO0O00000b00o0boboOnO Class 2,Class 3, Class 4000 0O0OO00O0OOOOOO
goboon

1. Class 2

PN, = PNE(j) (= GoldPN, x Cs(5)) (6.10)
- { . | | 2D
(e —1)/2] + [(: —3)/4] + [(¢ — 3)/8] + 3 (otherwise)

mod i (otherwise)

J= { . (i=2n) (6.12)
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2. Class 3

PN; = PNk(j) (= GoldPNy, x Cy(7))

k=4x |(i—1)/4) — [(i—1)/8] +2

j =

4 (i=4n)
mod i (otherwise)

3. Class 4

PN; = PNk(j) (= GoldPNy, x Cs(7))

k=7x[(i—1)/8] +3

, { 8 (i=8n)
] =

mod i (otherwise)

(6.13)

(6.14)

(6.15)

(6.16)

(6.17)

(6.18)

Ooooooobobo1og 1o boboooooboooooob e,
J00000000000000D000000 Class 1, Class 2, Class 3, Class 4 0 0 [

gboboboogobbooggo

1. Class 1

PN; = PNk(j) (= GoldPN,, x Cy(1))

1
k =
{ i+ (1 —2)/2] + (¢ —2)/4] + [(1 —2)/8] + 3 (otherwise)
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2. Class 2

PN; = PNk(j) (= GoldPNy, x Cy(7))

(6.21)

(i < 2)

2
k =
{ 2x [(e—=1)/2]+ (e —=3)/2] + [(¢ —3)/4] + [(: —3)/8] +5 (otherwise)

, { 2 (i=2n)
j=

mod i (otherwise)

3. Class 3
PN; = PNk(j) (= GoldPNy, x Cy(7))
k=8x|(i—-1)/4] - [(i-1)/8]+3
(4 (i=4n)
= mod i (otherwise)
4. Class 4

PN; = PNk(j) (= GoldPNy, x Cs(j))

k=15x [(i —1)/8] + 4

_ { 8 (i=8n)
j=

mod i (otherwise)
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(6.25)

(6.26)

(6.27)
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gogboboobbooboogbogbboobbooobuogbooooooboon
gbobbboobboubboobbboboooboobboobbbobbodobbod
god

gbbobogdgbobobboobbobbboodobobuodobbodgboboobbo
gbuogoboobogobouoobuoobboobuooobouoobobbbon
googbboodbogbboboboobuogobbobooobbooobbobbon
gbboooobbbodgbboobobobobobuoooboobbbogbbon
gbooodggo
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U062 0000088U0O0O0O2800000000000000¢0

‘User H Class4 ‘

1 | PN1(1)
PN1(2)
1(3)
1(4)
1(5)
)
)
)
)

)—U
Z

g
2

w
Z

1(6
N1(7
1(8
2(1

y-U

)—U
z

ol |o|ot|kx|w|
w
Z

)—U
Z

i PNg(7)

241 | PN33(1)
242 | PN33(2)
243 || PN33(3)
244 | PN33(4)

245 || PN33(5)
246 || PN33(6)
247 || PN33(7)
248 || PN33(8)
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063 0000038000008 UIULDODDUOOOODODOODOON

‘User H Class3 ‘ Class4 ‘

1 | PNI(1) | PN2(1)
2 | PN1(2) | PN2(2)
3 | PN1(3) | PN2(3)
4 | PN4(4) | PN2(4)
5 | PN3(1) | PN2(5)
6 | PN3(2) | PN2(6)
7 | PN3(3) | PN2(7)
8 | PN3(4) | PN2(8)
9 | PN4(1) | PN5(1)

i PN(5) | PNe())

81 | PN31(1) | PN32(1)
82 | PN31(2) | PN32(2)
83 | PN31(3) | PN32(3)
84 | PN31(4) | PN32(4)
85 | PN33(1) | PN32(5)
86 | PN33(2) | PN32(6)
87 | PN33(3) | PN32(7)
88 | PN33(4) | PN32(8)
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064 00000 170000038000 D0O0LO0ODOOOLODOOO

‘User H Class?2 ’ Class3 ‘ Class4 ‘

1 | PNI(1) | PN2(1) | PN3(1)
2 | PN1(2) | PN2(2) | PN3(2)
3 | PN4(1) | PN2(3) | PN3(3)
4 | PN4(2) | PN2(4) | PN3(4)
5 | PN5(1) | PN6(1) | PN3(5)
6 | PN5(2) | PN6(2) | PN3(6)
7 | PN7(1) | PN6(3) | PN3(7)
8 | PN7(2) | PN6(4) | PN3(8)
9 | PN8(1) | PN9(1) | PN10(1)

i PN(j) | PNi(j) | PNi(5)

31 || PN28(1) | PN27(3
32 || PN28(2) | PN27(4

PN24(7
PN24(8

) )

) )
33 || PN29(1) | PN30(1) | PN31(1)
34 || PN29(2) | PN30(2) | PN31(2)
35 || PN32(1) | PN30(3) | PN31(3)
36 || PN32(2) | PN30(4) | PN31(4)
37 | PN33(1) — —
38 | PN33(2) — —
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Ues 000D 10b00DbD 1ivo0boobooboobobon

‘User H Classl ‘ Class2 ‘ Class3 ‘ Class4 ’

1 | PN1(1) | PN2(1) | PN3(1) | PN4(1)
2 | PN5(1) | PN2(2) | PN3(2) | PN4(2)
3 | PN6(1) | PN7(1) | PN3(3) | PN4(3)
4 | PN8(1) | PN7(2) | PN3(4) | PN4(4)
5 | PN9(1) | PN10(1) | PN11(1) | PN4(5)
6 | PN12(1) | PN10(2) | PN11(2) | PN4(6)
7 | PN13(1) | PN14(1) | PN11(3) | PN4(7)
8 | PN15(1) | PN14(2) | PN11(4) | PN4(8)
9 | PN16(1) | PN17(1) | PN18(1) | PN19(1)
10 | PN20(1) | PN17(2) | PN18(2) | PN19(2)
11 | PN21(1) | PN22(1) | PN18(3) | PN19(3)
12 | PN23(1) | PN22(2) | PN18(4) | PN19(4)
13 | PN24(1) | PN25(1) | PN26(1) | PN19(5)
14 | PN27(1) | PN25(2) | PN26(2) | PN19(6)
15 | PN28(1) | PN29(1) | PN26(3) | PN19(7)
16 | PN30(1) | PN29(2) | PN26(4) | PN19(8)
17 | PN31(1) | PN32(1) | PN33(1) —
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goboobogbboobbbuoooobbooosgbbuoobbooboonbo
goboboogobon
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goooon

e 10000000 PNOOODOOOODOOOOC(1)DC(8) DD IODODOOOOO

gbobogbboobuooobbbooooboobbooooboboobuooooba
gboboobbooobbmg2beotugbbooooon 3. ggbboobbood
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